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 = 

1

2
 (Ans.)  

 

Probability tree 

 = {(1, 1), (1, 2), (1, 3), (1, 4), (1, 5), (1, 6), (2, 1), (2, 2), 

(2, 3), (2, 4), (2, 5), (2, 6), (3, 1), (3, 2), (3, 3), (3, 4), (3, 5), (3, 6), 

(4, 1), (4, 2), (4, 3), (4, 4), (4, 5), (4, 6), (5, 1), (5, 2), (5, 3), (5, 4), 

(5, 5), (5, 6), (6, 1), (1, 2), (1, 3), (1, 4), (1, 5), (6, 6)} 

 {1H, 

1T, 2H, 2T, 3H, 3T, 4H, 4T, 5H, 5T, 6H, 6T} 

 = 12 

 5 H {5H} 

   = 1 

  p 5 H
1

12
 (Ans.) 

  

probability tree

  7bs cª‡kœi mgvavb   

S = {H, T} 

 
1

2
 

 
1

2
 

  = 
1

2
 + 

1

2
 = 1 (Ans.) 

probability tree

HHH, HHT, HTH, HTT, THH, THT TTH, 

TTT 

  S = {HHH, HHT, HTH, HTT, 

THH, THT, TTH, TTT} 

 8 

A = {HHH}

 A = 1 

 8 

  P(A) = 
1

8
 (Ans.) 

 B = T

= {HHT, HTH, HTT, THH, THT, TTH, TTT} 





  B 7 

 8 

  P(B) = 
7

8
 (Ans.) 



2

7

5

8

Probability tree HH

Probability 

  8bs cª‡kœi mgvavb   

Probability tree :  

  HH, HT, TH, TT) 

  4 

  HH
1

4
  (Ans.) 

Probability tree 



= 
5

7
  

5

8
 = 

25

56
  (Ans.) 



 2T

3

 Probability 

tree  H

  9bs cª‡kœi mgvavb   

H(Head) T(Tail)

{HH, HT, TH, TT}

4 

 2T {HH, HT, TH, TT} 

 4 

  P 2T) = 
4

4
 = 1 (Ans.) 

(1, 2, 3, 4, 5, 6} 

 6 

 {2, 4, 6} 

 3 {3, 6}

 4

3

4

6
  = 

2

3
 (Ans.) 

 

{1, 2, 3, 4, 5, 6} 

 {H, T} 

 Probability tree

{1H, 1T, 2H, 2T, 3H, 3T, 4H, 4T, 5H, 5T, 6H, 6T} 

  12 

 (H)

= {1H, 3H, 5H} 

  3 

  P H
3

12
  = 

1

4
 (Ans.) 



 20  30

 2, 3  5

 2, 3  5

 2, 





3  5 1

  10bs cª‡kœi mgvavb   

 20 25 

15

i)

ii)

i) ii)

iii)

iv)

  11bs cª‡kœi mgvavb   

1

0

(20 + 25 + 15) 60

i. 20

20

60
 = 

1

3
 (Ans.) 

ii. 25 


25

60
 = 

5

12
 

  1 − 
5

12
 = 

7

12
 (Ans.) 

i.

= 
1

3
 + 

5

12
 = 

4 + 5

12
 = 

9

12
 = 

3

4
 (Ans.) 

 ii.
5

12
 

  
15

60
 = 

1

4

  
5

12
 + 

1

4
    

  = 
5 + 3

12
 = 

8

12
 = 

2

3
 (Ans.)

 iii.
1

4
 

      
1

3
 

   

1

4
 + 

1

3
 = 

3 + 4

12
 = 

7

12
 (Ans.)

 iv. 

 0 (Ans.) 

 8 10 7

  12bs cª‡kœi mgvavb   

(8 + 10 + 7) = 25

25

 25 (Ans.) 

8 + 10 + 7 = 25

A

8

 8



P(A) = 
8

25
 (Ans.) 

 B 10

 25 − 10 = 15 

  P(B) = 
15

25
 = 

3

5
  (Ans.) 

25 

10 

25 

  

10

25
   

9

24
  

8

23
  

7

22
 = 

21

1265
 (Ans.) 

 

 0 (Ans.)



L  C

L  C

 Probability tree

 n

 2n

  13bs cª‡kœi mgvavb   

S = {LL, LC, CL, CC} 

 4

L {LC, CL} 2  

 L = 
2

4
 = 

1

2
 (Ans.) 





 C {LC, CL} 2  

C
2

4
  = 

1

2
 

  C 1 − 
1

2
 = 

2 − 1

2
 = 

1

2
 (Ans.) 

 

C 

  S = {LLLL, LLLC, LLCL, LLCC, LCLL, LCLC, 

LCCL, LCCC, CLLL, CLLC, CLCL, CLCC, CCLL, CCLC, 

CCCL, CCCC} 

2

2

4

1 2 

 2 4 = 2  2 = 22

 3 8 = 2  2  2 = 23

 4 16 = 2  2  2  2 = 24 

 ............................................................................................................

n 2n 

  n 2n



 
3

7
  

7

9
 

 0

1

 Probability tree

  14bs cª‡kœi mgvavb   
 S

 A

 S = n(S) 

A = n(A) 

P(A) = 
n(A)

n(S)
 ........... (i) 

A  0 n(S) 

 0  n(A)  n(S)  

 
0

n(S)
  

n(A)

n(S)
  

n(S)

n(S)
    n(S) 

0  P(A)  1 (i) 

0 1  

3

7
  

 
7

9
  

 1

 1 − 
3

7
 = 

4

7
 

 1 − 
7

9
 = 

2

9
 

 

P

4

7
  

2

9
 = 

8

63
 (Ans.) 

0.

Probability tree





3

7
 

7

9
 

2

9
 

7

9
 

4

7
 

2

9
 



P = 
3

7
  0 = 0 (Ans.)



Probability Tree

n

2n

  15bs cª‡kœi mgvavb   

  
4

9
 

 
3

7
 

 
3

5
  

2

7
 

 Probability tree

Probability tree

12

45
 

  16bs cª‡kœi mgvavb   

Probability tree

3

7

4

7

4

9

5

9

4

9
  

 
3

5
  

 

4

9
   

3

5
 = 

12

45
 

 

12

45
 

4

9
 

2

7
 


4

9
  

2

7
 = 

8

63
 





 

5

7
 

4

7
  

 
5

7
   

4

7
 = 

20

49
 

 

8

63
  + 

20

49
 = 

56 + 180

441
 = 

236

441
 (Ans.) 



(i) 4 

(ii) 4 4 

(i) 

(ii) 5 

  17bs cª‡kœi mgvavb   

1, 2, 3, 4, 5, 6. 

  = 6 (Ans.) 

(i) 4 

1 = 6

 4 
1

6
 (Ans.) 

 (ii) A = 4 4 

 4, 5, 6 

  A = 3 

 6

  P(A) = 
3

6
 = 

1

2
 (Ans.) 

(i) B 1, 3, 5

  B = 3 

 6

  P(B) = 
3

6
 = 

1

2
 (Ans.) 

 (ii) C = 5 1, 2, 3, 4.

  C = 4 

 = 6 

  P(C) = 
4

6
 = 

2

3
 (Ans.)

 6 5 8

(i) 

(ii) 

(i) 

(ii) 

  18bs cª‡kœi mgvavb   

= (6 + 5 + 8) = 19

19 19 

(Ans.)

(i) =5 

 = 
5

19
 (Ans.) 

 (ii) = 6

 = 
6

19
 

  = 1 – 
6

19
 = 

19 – 6

19
 

  = 
13

19
 (Ans.) 

(i) = 0

 = 
0

19
 = 0 (Ans.) 

 (ii) = 6

= 8



= 
6

19
 + 

8

19
 = 

6 + 8

19
 = 

14

19
 (Ans.) 

 284 

106 253 

169 

(i) 

(ii) 

(i) 

(ii) 

  19bs cª‡kœi mgvavb   

= (284 + 106 + 253 + 169) 

  = 812 

 812 1 812 

(Ans.) 

(i) = 0 

 = 
0

812
 = 0 (Ans.) 

 (ii) = 106 





 = 
106

812
 

  = 1 – 
106

812
 

  = 
812 – 106

812
 

  = 
706

812
 (Ans.) 

(i) = 253 

 = 
253

812
 (Ans.) 

 (ii)  = 169 

 = 
169

812
 

 
253

812
 

 = P 

 P 

= 
253

812
 + 

169

 812
 = 

253 + 169

812
 = 

422

812
 (Ans.) 



Probability tree 

(i) 

(ii) 

(i) 2T 

(ii) 2T 

  20bs cª‡kœi mgvavb   

Probability tree 

: HHH, HHT, HTH, HTT, THH, THT, TTH, 

TTT 

(i) S = {HHH, HHT, HTH, HTT, 

THH, THT, TTH, TTT} 

  = 8 

 (ii) A = 

  = {HHH, TTT} 

  A = 2 

 = 8 

  P(A) = 
2

8
 = 

1

4
 (Ans.) 

(i) B 2T 

= {HTT, THT, TTH, TTT} 

  B = 4 

 = 8 

 P(B) = 
4

8
 = 

1

2
 (Ans.) 

 (ii) C = 2T 

= {HHH, HHT, HTH, HTT, THH, THT, TTH} 

  C = 7 

 8 

 P(C) = 
7

8
 (Ans.) 

 18 24 15

14

19

  21bs cª‡kœi mgvavb   

(18 + 24 + 15) 57

A 24

24 

 

P(A) = 
24

57
 = 

8

19
 (Ans.) 

M  

 18

(57 −18) = 39

39 

 

P(M)=
39

57
 = 

13

19
 (Ans.) 

(18 + 24) 42

42

57



=

42

57
  = 

14

19
     



1

9
 

3

5

Probability tree 

Probability tree 





8

15

  22bs cª‡kœi mgvavb   
1

9
 

  1−
1

9
 = 

9−1

9
  

  = 
8

9
 (Ans.) 

Probability tree 

1

9
 

8

9
 

3

5
 

2

5
 

3

5
 

2

5
 

 

P  =  
8

9
  

3

5
       

  = 
24

45
  

  = 
8

15
    



45

60

85

 

  23bs cª‡kœi mgvavb   

(45 + 60 + 85) = 

190 

45 


45

190
 

   = 
9

38
 (Ans.) 

(60 + 85) = 145 

190


145

190
 = 

29

38
  (Ans.) 

190

60 



(190 − 60) 

130


130

190
 

  = 
13

19
 (Ans.) 



Probability tree 

5 

  24bs cª‡kœi mgvavb   

{1, 2, 3, 4, 5, 6} 

  (Ans.) 

 {1, 3, 5} = 3

6 

  
3

6
 = 

1

2
 (Ans.) 

6 {1, 2, 3, 4, 5, 6} 

6 {1, 2, 3, 4, 5, 6} 

Probability tree 

{(1, 1), (1, 2), (1, 3), (1, 4), (1, 5), (1, 6), (2, 1), (2, 2), 

(2, 3), (2, 4), (2, 5), (2, 6), (3, 1), (3, 2), (3, 3), (3, 4), (3, 5), (3, 6), 





(4, 1), (4, 2), (4, 3), (4, 4), (4, 5), (4, 6), (5, 1), (5, 2), (5, 3), (5, 4), 

(5, 5), (5, 6), (6, 1), (6, 2), (6, 3), (6, 4), (6, 5), (6, 6)} 

5 

 (5, 5) = 1

36

5  = 
1

36
 (Ans.) 



 Probability tree 

3 

  25bs cª‡kœi mgvavb   

{1, 2, 3, 4, 5, 6}

 

{ H T } 

6 { 1, 2, 3, 4, 5, 6 } 

Probability tree 



{ H1, H2, H3, H4, H5, H6, T1, T2, T3, T4, T5, T6 } (Ans.) 

12 

 { H2, H4, H6 } 

= 3


3

12
 = 

1

4
 

 3 { T3, T6 } = 2

 3 2 

  3 
2

12
 = 

1

6
  (Ans.) 

 1 3 2 4

3 1

  26bs cª‡kœi mgvavb   

 

3
1

3
 

 1 3 (1 + 3) 4

1 ( )
1

3
  

1

4
 

= 
1

12
 (Ans.) 

1

12
 

1

3
  

2

6
 = 

1

9
 

 
1

3
  

3

4
 = 

1

4
 

  

( )
1

12
 + 

1

9
 + 

1

4
 = 

3 + 4 + 9

 36
 = 

16

36
  = 

4

9
 (Ans.) 


2

9

3

7
, 

1

9
, 

2

5

3

7
.

Probability tree 

  27bs cª‡kœi mgvavb   
1

9

2

5

1 − 
2

5
  = 

3

5
 

 

1

9
  

3

5
 = 

1

15
  (Ans.) 

3

7





1

9

0. 

 

3

7
  0 = 0 

 

Probability tree 


2

9
  

3

5
 = 

2

15
 (Ans.) 

 200

0 15 

1 40 

2 50 

3 60 

4 25 

5 10 

2 4 

(i) 2

(ii) 2 4 

  28bs cª‡kœi mgvavb   

 

(15 + 40 + 50 + 60 + 25 + 10) = 200 

 200

2 4 (50 + 60 + 25) = 135  

  2 4 135 

  2 4 

135

200
  

                     = 
27

40
  (Ans.) 

(i) 2 

(15 + 40 + 50) = 105 

 2 

105

200
  

  = 
21

40
 (Ans.) 

 (ii) 2 4 (50 + 25) = 75 

  75 

  2 4 

75

200
  

  = 
3

8
 (Ans.)



L C 

L C 

Probability tree 

n 

2n 

  29bs cª‡kœi mgvavb   

  

 Probability tree

 n

 2n

  30bs cª‡kœi mgvavb   

H T





{HHH, HHT, HTH, HTT, THH, THT, 

TTH, TTT} (Ans.) 

Probability tree

H {HHH, HHT, HTH, 

THH, HTT, TTH, THT} = 7

 P 1H] = 
7

8
 [ 8 (Ans.) 

T {HHT, HTH, THH} = 3

 P [ 1T] = 
3

8
   8

 1T
3

8
 (Ans.) 

 

2

4

1  2 

    2   4 2  2 = 22

    3   8 2  2  2 = 23

    4   16 2  2  2  2 = 24 

 .............................................................................................  

 .............................................................................................  

 n 2n

 n 2n

 1 1

Probability tree

3

  31bs cª‡kœi mgvavb   

1

1.  

1.

 



(Probability 

tree)

  32bs cª‡kœi mgvavb   

6

 {1, 2, 3, 4, 5, 6} (Ans.) 

6

{1, 2, 3, 4, 5, 6} 

 3


3

6
 = 

1

2
 (Ans.) 

Probability tree





1 2 3 4 5 6 

1 1, 1 1, 2 1, 3 1, 4 1, 5 1, 6 

2 2, 1 2, 2 2, 3 2, 4 2, 5 2, 6 

3 3, 1 3, 2 3, 3 3, 4 3, 5 3, 6 

4 4, 1 4, 2 4, 3 4, 4 4, 5 4, 6 

5 5, 1 5, 2 5, 3 5, 4 5, 5 5, 6 

6 6, 1 6, 2 6, 3 6, 4 6, 5 6, 6 



L C

Probablilty tree C

Probability tree

L

  33bs cª‡kœi mgvavb   

Probability tree

L 

C 

L 

C 

L 

C 

 S = {LL, LC, CL, CC}, 4

C = {LC, CL} 2

 C = 
2

4
 = 

1

2
 

  C 1 − 
1

2
  

           = 
2 − 1

2
  

            = 
1

2
 (Ans.) 





 

C 

 S = {LLLL, LLLC, LLCL, LLCC, LCLL, LCLC, 

LCCL, LCCC, CLLL, CLLC, CLCL, CLCC, CCLL, CCLC, 

CCCL, CCCC} 

 16

L 15

 L
15

16
 (Ans.) 

 9 12 15

A

O  P (A)  1.

  34bs cª‡kœi mgvavb   

P(M) = 
12

36
 = 

1

3
 

P(O) = 
9

36
 = 

1

4
 

  P(M) P(O)



= P(M) + P(O)  = 
1

3
 + 

1

4
 = 

7

12
 (Ans.) 

P(A) = 
15

30
 = 

5

12
  

  P( )
M

A
 = 0  

5

12
 = 0 

 

P( )
M

A
 = 1 − 0 = 1 (Ans.) 



L C

L

C

Probability tree

n

2n

  35bs cª‡kœi mgvavb   

 

 



Probability tree 

  36bs cª‡kœi mgvavb   

S = {HH, HT, TH, TT} (Ans.) 

  = 4 (Ans.)

Probability tree 

 





 S = {HHH, HHT, HTH, HTT, THH, THT, TTH, TTT} 

= 4 

 

= {HT, TH}

 = 
2

4
 = 

1

2
 (Ans.) 

 = 8 

 

= {HHT, HTH, HTT, THH, THT, TTH} 

 = 6 

 = 
6

8
 = 

3

4
 (Ans.) 



4

3

  37bs cª‡kœi mgvavb   

4

1 = 6

 4 = 
1

6
 (Ans.) 

B = (  1, 3, 5 ) 

  B  = 3 

 6

 P(B) = 
3

6
  

  = 
1

2
 (Ans.) 

 1, 2, 3, 4, 5, 6 

 6

A = (3 1, 2) 

  A = 2 

  P(A) = 
2

6
 = 

1

3
 (Ans.) 



2T 

3 

Probablility tree 

H 

  38bs cª‡kœi mgvavb   

{HH, HT, TH, TT} 

 = 4

 2T 
4

4
 = 1 

3

6
 = 

1

2
 

 3 = 
2

6
 = 

1

3
 



3 = 
1

2
 + 

1

3
 = 

3 + 2

6
 

  = 
5

6
 (Ans.)  

Probablility tree 





H {1H, 3H, 5H},  

  3 12

 = 
3

12
 

   = 
1

4
 (Ans.) 

 18 24 15

14

19

  39bs cª‡kœi mgvavb   

= 18

= 24

= 15

(18 + 24 + 15) = 57



= 
24

57
 = 

8

19
 (Ans.) 

= 
18

57
 

  = 1 – 
18

57
 = 

57 – 18

57
 = 

39

57
 

  = 
39

57
 = 

13

19
 (Ans.) 

= (18 + 24 + 15) = 57

M A. 

  P(M) = 
18

57
 P(A) = 

24

57
 

  = P(M) + P(A) 

  = 
18

57
 + 

24

57
 = 

18 + 24

57
 

  = 
42

57
 = 

14

19
 

Aa¨vq mgwš^Z m„Rbkxj cÖkœ I mgvavb 



Probability tree 

2 H 

sin2 
17

18
 + sin2 

5

8
 +  cos2

37

18
 + cos2 

5

8

2H 

  40bs cª‡kœi mgvavb   

1

Probability Tree 

HHH, HHT, HTH, HTT, THH, THT, TTH, 

TTT 

 2 H = {HHT, THH, HTH, HHH} 

  2 H 4 

  = 8 

  2 H = 
4

8
 = 

1

2
 (Ans.) 





2 H 
1

2
 

 
1

2
 = 2 

 sin2 
17

18
 + sin2 

5

8
 + cos2 

37

18
 + cos2 

5

8
 = 2 

 = sin2 
17

18
 + sin2 

5

8
 + cos2 

37

18
 + cos2 

5

8
 

 = 

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